#### Transfers Report

This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 4 - Stirling North

5,086

4

1,018

#### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Oliver FRANKLIN	Scottish Liberal Democrats	190
Danny GIBSON	Labour and Co-operative Party	1,029
Susan MCGILL	Scottish National Party (SNP)	1,305
Shena MCLELLAND	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	64
Rachel NUNN	Scottish Conservative and Unionist	1,161
Amy SMITH	Scottish Greens - Think Global Act Local	695
Jim THOMSON	Scottish National Party (SNP)	642
	Total	5,086

Candidate Danny GIBSON Elected with 1,029 votes, being in excess of the quota of 1,018 Candidate Susan MCGILL Elected with 1,305 votes, being in excess of the quota of 1,018 Candidate Rachel NUNN Elected with 1,161 votes, being in excess of the quota of 1,018

# Transfers Report

This report contains the transfers results.

### Stage 2 - Surplus of Susan MCGILL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Oliver FRANKLIN	24	0.21992	5.27808
Transfer to Amy SMITH	147	0.21992	32.32824
Transfer to Jim THOMSON	1,049	0.21992	230.69608
No further preference	81	0.21992	17.81352
Not transferred due to rounding			0.00440
	Total		287.00000

# Transfers Report

This report contains the transfers results.

# Stage 3 - Surplus of Rachel NUNN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Oliver FRANKLIN	478	0.12316	58.87048
Transfer to Shena MCLELLAND	104	0.12316	12.80864
Transfer to Amy SMITH	67	0.12316	8.25172
Transfer to Jim THOMSON	45	0.12316	5.54220
No further preference	467	0.12316	57.51572
Not transferred due to rounding			0.01124
	Total		143.00000

# Transfers Report

This report contains the transfers results.

# Stage 4 - Surplus of Danny GIBSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Oliver FRANKLIN	326	0.01068	3.48168
Transfer to Amy SMITH	215	0.01068	2.29620
Transfer to Jim THOMSON	127	0.01068	1.35636
No further preference	306	0.01068	3.26808
Not transferred due to rounding			0.01028
	Total		11.00000

### Transfers Report

This report contains the transfers results.

### Stage 5 - Exclusion of Shena MCLELLAND

78.27572

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Oliver FRANKLIN	14	1.00000	14.00000
Transfer to Amy SMITH	12	1.00000	12.00000
Transfer to Jim THOMSON	6	1.00000	6.00000
Transfer to Oliver FRANKLIN	1	0.21992	0.21992
Transfer to Jim THOMSON	3	0.21992	0.65976
Transfer to Oliver FRANKLIN	34	0.12316	4.18744
Transfer to Amy SMITH	14	0.12316	1.72424
Transfer to Oliver FRANKLIN	16	0.01068	0.17088
Transfer to Amy SMITH	8	0.01068	0.08544
Transfer to Jim THOMSON	5	0.01068	0.05340
No further preference	32	1.00000	32.00000
No further preference	56	0.12316	6.89696
No further preference	26	0.01068	0.27768
Not transferred due to rounding			0.00000
	Total		78.27572

### Transfers Report

This report contains the transfers results.

### Stage 6 - Exclusion of Oliver FRANKLIN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Amy SMITH	85	1.00000	85.00000
Transfer to Jim THOMSON	18	1.00000	18.00000
Transfer to Amy SMITH	9	0.21992	1.97928
Transfer to Jim THOMSON	9	0.21992	1.97928
Transfer to Amy SMITH	99	0.12316	12.19284
Transfer to Jim THOMSON	15	0.12316	1.84740
Transfer to Amy SMITH	117	0.01068	1.24956
Transfer to Jim THOMSON	22	0.01068	0.23496
No further preference	101	1.00000	101.00000
No further preference	7	0.21992	1.53944
No further preference	398	0.12316	49.01768
No further preference	203	0.01068	2.16804
Not transferred due to rounding			0.00000
	Total		276.20848

# Transfers Report

This report contains the transfers results.

### Stage 7 - Exclusion of Amy SMITH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jim THOMSON	531	1.00000	531.00000
Transfer to Jim THOMSON	113	0.21992	24.85096
Transfer to Jim THOMSON	75	0.12316	9.23700
Transfer to Jim THOMSON	123	0.01068	1.31364
No further preference	261	1.00000	261.00000
No further preference	43	0.21992	9.45656
No further preference	105	0.12316	12.93180
No further preference	217	0.01068	2.31756
Not transferred due to rounding			0.00000
	Total		852.10752